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F Test



F = MS(Between the Groups)

MS (With in Groups



A B C
10 3 10

7 3 11

6 3 10

10 3 5 

4 3 6

3 3 8

2 3 9

1 3 12

8 3 9

9 3 10

60/10 = 6 30 /3 =3 90/10 = 9



A B C
10 - 6 =4 3-3 = 0 10 -9 = 1

7 - 6 =1 3-3 = 0 11-9 = 2

6 -6 = 0 3-3 = 0 10 – 9 =1

10 -6 = 4 3-3 = 0 5 – 9 = -4

4 - 6 =-2 3-3 = 0 6 – 9 = -3

3 - 6 = -3 3-3 = 0 8 -9 = -1

2 - 6 = -4 3-3 = 0 9 – 9 = 0

1 - 6= -5 3-3 = 0 12 – 9 = 3

8 - 6 = 2 3-3 = 0 9 – 9 = 0

9 - 6 = 3 3-3 = 0 10 – 9 =1

60/10 = 6 30 /3 =3 90/10 = 9



A B C
10 - 6 = 4 = 16 3-3 = 0 10 -9 = 1 = 1

7 - 6 = 1 = 1 3-3 = 0 11-9 = 2 = 4

6 -6 = 0 = 0 3-3 = 0 10 – 9 =1 = 1

10 -6 = 4 = 16 3-3 = 0 5 – 9 = -4 = 16

4 - 6 = -2 = 4 3-3 = 0 6 – 9 = -3 = 9

3 - 6 = -3 = 9 3-3 = 0 8 -9 = -1 = 1

2 - 6 = -4 = 16 3-3 = 0 9 – 9 = 0 = 0

1 - 6= -5 = 25 3-3 = 0 12 – 9 = 3 = 9

8 - 6 = 2 = 4 3-3 = 0 9 – 9 = 0 = 0

9 - 6 = 3 = 9 3-3 = 0 10 – 9 =1 =  1

60/10 = 6 100 30 /3 =3 0 90/10 = 9 42 = 

142



60/10 = 6 – 6 = 0 30 /3 =3-6= -3 90/10 = 9-6=3

18/3 = 06 0 9 9

nd² 0 90 90= 180

∑nd² 180 2 = 90

∑x² 142 27 = 5.26

F (cal) = MS(Between the Groups) = 90 = 17.11

MS (With in Groups) 5.26

F Cri 2, 27 df (0.05) = 3.35





उदा –

1 2 3 4 5

70 70 70 70 70

50 60 70 80 90

55 55 70 75 95

40 50 70 90 100

60 60 60 60 60

275 295 340 375 415

M 55 59 68 75 83

N 5 5 5 5 5

4 4 4 4 4 = 20



उदा –

1 2 3 4 5

15=225 11 =121 2=4 -5=25 -13=169

-5 = 25 1 =1 2=4 5=25 7 =49

0 =0 -4 =16 2=4 0=0 12=144

-15 =225 -9 =81 2=4 15=225 17=289

5 =25 1 =1 -8=64 -15 =225 -23=529

500 220 80 500 1180 ∑x²s = 

2480

275 295 340 375 415

M 55 59 68 75 83



M 55 59 68 75 83 = 68

-13 -9 0 7 15

d² 169 81 0 49 225

nd² 845 405 0 245 1125 = ∑nd² = 

2620 
∑nd² 2620 4 = 655

∑x² 2480 20 = 124

F (cal.) = MS(Between the Groups) = 655 = 5.28

MS (With in Groups) 124

F Cri 4, 20 df (0.05) = 2.87


